
62 Bottom part
Professional \ High pressure cleaner hotwater \ Electric motor \ HDS 795 *EU \ Spare parts list HDS 795 \ Electric control box \ Bottom part

Valid on 30.11.2018 Page 1 / 3



62 Bottom part
Professional \ High pressure cleaner hotwater \ Electric motor \ HDS 795 *EU \ Spare parts list HDS 795 \ Electric control box \ Bottom part

Valid on 30.11.2018 Page 2 / 3

POS Preces Nr. Apraksts Quantity Unit Piezīme
1 5.049-551.0 Metāla lokšņu komponents 1.000 ST
2 6.641-270.0 Plug 1.000 ST
3 2.638-961.0 Conversion kit pressure switch air 1.000 ST
4 6.641-804.0 Clamping washer 4 2.000 ST
5 7.303-030.0 Screw M4x8 -St-P2R (In6Rd) 4.000 ST
6 5.365-158.0 Profile gasket 1.000 ST
7 6.622-241.0 Vadības ķēžu transformators 400V 1.000 ST VERSION 2

Vienuma teksts 1: / 1.031-111.0 / -291.0 / -801.0
Vienuma teksts 2: / -811.0 / -821.0

7 4.622-018.0 Control transformer - nur fuer Ersatz 1.000 ST VERSION 2
Vienuma teksts 1: / 1.031-261.0

7 6.622-021.0 control transformer 1.000 ST VERSION 1
Vienuma teksts 1: / 1.031-291.0

8 7.303-030.0 Screw M4x8 -St-P2R (In6Rd) 2.000 ST
10 4.632-002.0 Contactor -nur fuer Ersatz- 1.000 ST

Vienuma teksts 1: / 1.031-111.0 / -291.0 / -801.0
Vienuma teksts 2: / -811.0 / -821.0

10 6.632-356.0 Kontaktors LC1-D18 B7 1.000 ST
Vienuma teksts 1: / 1.031-261.0

11 7.303-033.0 Screw M4x16-ST-P2R (KOMBI-IN6RD 2.000 ST
12 6.641-422.0 Wire protecting sleeve 1.000 ST
13 7.303-036.0 Skrūve M5x8 -St-A2R (In6Rd) 1.000 ST
14 7.312-260.0 washer 1.000 ST
15 2.885-246.0 Spare parts set service electronics 1.000 ST
16 6.646-269.0 Distance pin 3.000 ST
17 5.364-158.0 Flat gasket 1.000 ST
18 6.646-254.0 Plug housing 1.000 ST
19 6.682-332.0 Controller special program HDS middle cl 1.000 ST
20 7.303-061.0 Screw ST2,9x9,5 -St-R2R (In6Rd) 2.000 ST
21 2.883-468.0 Spare parts set ignition transformer 1.000 ST

Vienuma teksts 1: / 1.031-111.0 / -291.0 / -801.0
Vienuma teksts 2: / -811.0 / -821.0

21 2.883-465.0 Spare part set 1.000 ST



62 Bottom part
Professional \ High pressure cleaner hotwater \ Electric motor \ HDS 795 *EU \ Spare parts list HDS 795 \ Electric control box \ Bottom part

Valid on 30.11.2018 Page 3 / 3

POS Preces Nr. Apraksts Quantity Unit Piezīme
Vienuma teksts 1: / 1.031-261.0

22 5.115-255.0 Paplāksne 1.000 ST
23 6.647-198.0 Cable with rubber bushing 1.000 ST

Vienuma teksts 1: / 1.031-291.0
23 6.647-250.0 cable with rubber bushing 1.000 ST

Vienuma teksts 1: / 1.031-111.0 / -261.0 / -801.0
Vienuma teksts 2: / -811.0 / -821.0

24 6.646-030.0 Spraudnis CEE 16A 1.000 ST
Vienuma teksts 1: / 1.031-111.0 / -801.0 / -811.0
Vienuma teksts 2: / -821.0

25 6.343-170.0 Retaining clip 1.000 ST
26 6.641-802.0 Anti-interference element 24V 1.000 ST
27 4.828-007.0 Anti-interference filter complete 1.000 ST
28 6.643-249.0 Motor protecting switch 1.000 ZST

Vienuma teksts 1: / 1.031-291.0
30 7.312-230.0 Serrated lock washer A4,3-FSt-A3E DIN67 1.000 ST
31 7.311-001.0 Hexagon nut M4 -8-A2E ISO 4032 1.000 ST
32 6.389-639.0 Hose 3x1,35 1.000 ST
33 5.901-134.0 Extraction tool AMP 1.000 ST
34 5.442-927.0 Piece of tube 1.000 ST
35 5.409-270.0 Nipple 1.000 ST
36 6.644-052.0 Fuse insert slow G-2,0A 1.000 ST

Powered by TCPDF (www.tcpdf.org)

http://www.tcpdf.org

